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1l For the circuit shown find R, seen from terminals a-b
&
{

a. 250 dn | isn '
b 1450 L T _—
o6 2250 ] '
T4 205Q :
z.  None of the above
{0
2 Find the Thevenin equivalent voltage Vy, seen from terminals a-b in the
circuit shown: Ve 4 a
— & : —3 .
—s a. HhV . . -J,i
b. 10V 2k L
c. 5x10%V il B0 % +
d 25V = Gl \l§
i
e.  None of the above L FL
Yy A
lo"l; <;> ks
: I i
3. Find the equivalent Thevenin resistance seen from terminals a-b in the
circuit shown in problem 2.
a. 0.5Q
b. 1Q
G 5Q
-3 d. 9.2 O
8. None of the above
4. Find the Thevenin equivalent voltage Vi, as seen from terminals a-b in
the circuit shown 5T = j4
PORE—— " SES— f—-».-ﬁ
a. Vyu=97.5V r— ;
b V=225V 4}V
Vip=-22.5V
...__35 < th a
i Vy=37.5V A @) ! )
e. None of the above §20J?— o A ?‘,5&
3 i !
2/4
1/ 4-\;5}: r“ﬂ“‘ -';_ o
S T -
Vil bt ) 2§
4w Fr} ik W T L
. - A = b
//r"{ & ﬁ"fj/*
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5. Find the equivalent Thevenin resistance seen from terminals a-b in the

circuit shown in Problem 4.

6.74Q

9.37Q

12.6Q

16.320

None of the above

Find the absolute value of the power delivered by the circuit

PO oo

480W
240W
720W
450W
Necne of the above

124

—- LoV

Find the absolute value of the power delivered by the dependent
voltage source.

a.
b
C.
d
e

For the circuit shown, find the CL.Jrrent i a

oo op

150W
75W

375W
500W
None of the above

2A
4A
8A
6A
None of the above

S50
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e
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150

Solve for the current i in the 10Q resistor in the circuit shown

oCaAQo®

lorn_
-1.5A '“‘“""“‘""“'AM-—?c T
-1A 30U
0.6A 50V/ 5
Y 2 5

None of the above

752;5
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10.

1

12.

Find the current | in the circuit shown. &/t &1
a. BA I i { I
b. 1A i f
c. 3.2A A :
S d. O.G;ﬂ\ !ZU C@ 5.& ! 3,;'{%5- 51 J’Z-
e. None of the above i i T
I wig e s e |
Find the voltage V in the circuit shown.
/V\ALQQ}L
a. 43.2V
b. 22.6V Lo L0
£ 35V AAA PN s
d. 39V + -
e. None of the above 94 6 vV 5 (8 (05
— -
Find the equivalent inductance seen from terminals a-b in the circuit
shown . Lﬂ'f 2H
= PPNl DD
— 3. ~2.8H - '
b.  ~21.8H QIH éBH
& ~18.5H 7
d. -~ =3.3H 6H s IH
e. None of the above @——@-—<JJy™ ’J L/
Q
gloﬁ 12.H
b
8 &~
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